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1 [ — T —— 9,000 9,000 9.000 9.000 9,000 9.000
2 | Bl EEe= | 5000 8,000 8,000 8,000 8,000 8.000
3 N EEE . = 8,000 8,000 8,000 8,000 8.000 8.000
4 ) - - 9,000 9,000 9,000 5,000 9,000 9.000
5 o - | = = 9,000 9,000 9,000 9,000 9,000 9.000
& == = L = E = 8,000 8,000 8.000 8.000 8,000 §.000
7 ] lnm 10,000 10,000 10,000 10,000 10,000 10,000
8 ) ] W u ] 9.000 9.000 9,000 9,000 5,000 9.000
2] mow [ §.] 8,000 8,000 8.000 B8.000 8.000 6.000
10 | B el 'm = = —= 8,000 8,000 8,000 8,000 8,000 §.000
" -_e = 8,000 8,000 8,000 8,000 8,000 5.000
12 ] 8,000 8,000 8,000 8,000 8.000 8,000
13 B TN Em | 9,060 9,060 9,060 5.060 9,060 9.060
14 L 1= = 8,060 8,060 8,060 8,060 6,060 8.060
19 N == -8 . 8,060 8,060 8,060 8.060 8,060 8.060
16 B = o= 9,060 9,060 9,060 9,060 9.060 9.060
17 ] u 9,060 9,060 9,060 9,060 9,060 9,060
18 ) L] - = aE B 9.060 9.060 9.060 9,060 5,060 9.060
19 | = 0 0 10,060 10,060 10,060 10,060
20 | n == = @ 11.060 11.060 11.060 11,060 11,060 11,060




